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[ PART A: Vocabulary

Directions: Choose the werd or phrase (1), (2), (3), or (4) that best completes -;
| each sentence. Then mark the correct choice on your answer sheet. !

What was intended as’a.peaceful. demonstration.rapidly ———== into violence.

1) agitated 2)degenerated 3).preceded 4) discriminated
The Democratic Payty ——-—-— 70 percent of the vote.

1) garnered 2) esteemed 3) obligated 4) assembled
Some animals can very high temperatures.

1) detach 2} submit 3) obstruct 4) withstand

Researchers have discovered that up to one half of all children born of alcoholics are

genetically to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
Communication via the Internet gives an important to international trade.
1) dimension 2) exposure 3) expenditure 4) distribution
Lack of childcare facilities can be a major for women wishing to work.

1} dispute 2) routine 3) obstacle 4) contraction
It is a common that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
The -—--—- for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
The degree of punishment should be —--to the seriousness of the crime.

1} inclined 2) receptive 3) prominent 4) proportional
Low inflation is the key to ——-——--m- economiec growth.

1) sustained 2} CONgruous 3) extravagant 4) well-disposed

| PART B: C]nze Test

| Directions: Read the Jollowing passage and decide which choice (1), (2), (3), or

11-
12-

13-
14-
15-

| (4) best fits each space. Then mark the correct choice on your answer ';kfer

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) -—-----m- the British Dominions were recognized as ‘autonomous communities’, {(12) -------
the British Crown. Since 1947, when India chose (13) ----—--——-- within the Commonwealth, it
has consisted of an inereasing number of republics, so that the role of the British monarch, who
1s the head of only sewenteen (14) ---------- a total of fifty-three member states, is confined
(15) =e=====—- head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

1) so 2) which 3) so that 4) in which

1) binding together 2) bound together by

3) together having bound 4) having bound together

1) to remain 2) remaining 3) for remaining 4) to be remained
1) by 2) out of 3) within 4} outside

1) for 2) to who is 3) to that of 4) that she is
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3)

or (4). Then mark it on your answer sheet.

PASSAGE 1:

The existence in the tissues of highly effective mechanisms of resistance to bacteria
and fungi is manifestly obvious in the everyday experience that most wounds at the
body’s surface fail to lead to obvious infection. It is quite apparent that in order to
accuount for this we must postulate the existence in normal tissues of a range of
pre-existing defence mechanisms. We think that we can characterize some of these
and the activities of a few can be expressed in simple chemicla terms. However,
before these are described it is necessary in simple chemical terms. However,
before these are described it is necessary at the outset to recognize that the tissues
of a “normal” mammalian body .are usually far from being completely devoid of
micro-organisms or sterile. Most human beings, and indeed possibly all living
things, carry within themselves a variety of microbial agents which are potentially
pathogenic for them. Under most conditions, these pathogens do not manifest their
presence by either symptomsor lesions and only when something occurs to upset
the equilibrium of the host-parasite relationship does infection develop into
disease. This subject is referred to as latency or subclinical infection. Suffice it now
to add that latency can be demonstrated to occur with microbial agents of all
classes —bacteria, viruses, rickettsiac, protozoa and fungi; to stress that the
mechanisms of resistance may not always achieve a completely sterile environment
in the tissues; and to accept that sometimes the best interests of the body appear to
be served instead of a state of balanced symbiosis or parasitism, in which the
continued presence of the organisms at the surface of the body or even within the
cells and tissues is more or less permanently tolerated.

16- According to the text, most wounds at the body’s surface

S —

1} do not cause resistance 2) are manifestly infectious

3} do not become critical 4} are effectively necessary
17- A normal mammalian body -—-------- .

1) lacks in micreorganisms 2) is potentially devoid of equilibrium

3)is far from being a microorganism 4) contains a large number of microorganisms
18-  Infection becomes a disease when ———-—,

1) there is a completely sterile environment

2) the host-parasite relationship is imbalanced

3) the host-parasite relationship is symbiotic

4) there is a large number of bacteria in the human body



19-

20)-

22-
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It is better for the human body that -—-—=-m-,

1} cells be sterile 2pcells keep roam for microorganisms

3) mechanism of resistance be alerted 4) parasites attach to the body permanently

Latency refers to the state when
1) infection has not developed into disease

2) subclinical infection demonstrates mild symptoms
3) there are microbial agents of all classes in the body
4) the patient does not know he has caught the disease

PASSAGE 2:

Tolerance mechanisms are needed because the immune system randomly generates
a vast diversity of antigen-spccific receptors and some of these will be self-
reactive; -tolerance prevents reactivity against the body's own tissues.
Immunological tolerance is a state of unresponiveness which is specific fora
particular antigen; it is induced by prior exposure to.that antigen. The most
important aspect of tolerance is self-tolerance, which prevents the body from
mounting an immune attack against its own tissues. There is potential for such
attack because the immune system randomly generates a vast diversity of antigen-
specific receptors, some of which will be self-reactive. Cells bearing these
receptors therefore must be eliminated, either functionally or physically, some of
which will be self-reactive, Self-reactivity is prevented by processes that occur
during development, rather than being genetically preprogrammed.

It is implied that a state of unresponsiveness —-——.

1) compromises the body’s defense mechanisms

2) exemplifies the body’s sole defense mechanism

3) 15 beneficial for preventing reaction to the person’s tissues
4) is critical for preventing reaction to the person’s tissues
Immunological tolerance —————,

1) requires no priorcontact with the antigen

2) enhances the body’s ability to attack tissues

3).is highly destructive to the tissues of the body

4)1s vital in defending the body against its own immune system
The body cannot define itself against itself --—-----——-—- .

1) because some generated receptors react to the “self”

2) because most of the body’s tissues cause reactions

3) to prevent random generation of antigen receptors

4) to enhance genetic programming of self-reactivity
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24- Self-reactivity occurs due to ~————-,

26-

I') self-reactivity of all antigen-specific receptors

2) limited generation of antigen-specific receptors

3) unlimited diversity of receptors produced

4) random elimination of the body’s tolerance mechanisms

An individual’s body can defend itself against its immune system by ——-———,
1) genetically programmed development

2) physically processing genetic development

3) certain processes that occur during development

4) functionally generating cells bearing receptors

PASSAGE 3:

While vaccines are generally both effective and safe, no vaccine is totally safe for all
recipients. Vaccination may sometimes cause mild side-effects: loeal reaction, slight fever and
other symptoms. Symptoms may develup as part uf the normal immune response. In addition,
certain components of the vaccine (e.g. aluminum ‘adjuvant, antibiotics or preservatives)
occasionally cause reactions. A successful vaccine reduces these reactions to a minimum while
inducing maximum immunity. Serious reactions are rare. Health workers who administer
vaccine have an obligation to inform recipients of known adverse reactions and the likelihood
of their occurrence. A known contraindication should be clearly marked on a traveller’s
vaccination card, so that the vaccine may be aveoided in future. In exceptional circumstances,
the medical adviser may consider the risk of a particular disease to be greater than the theore-
tical risk of administering the vaccine and will advise vaccination.

In the passage, it is implied that -----—-—--- .

1) the necessity of vaccination may ge beyond its adverse effects

2) health workers usually avoid telling the recipients about adverse reactions of vaccines
3) adverse reactions are rare when vaccines are carefully administered

4) components of vaccines are certainly the cause of adverse effects

A traveller’s vaccination card should be marked --------- -

1) in order to avoid complications 2) for a known contraindication
3) in exceptional circumstances 4) by a medical adviser
According to the passage, vaccines .

1) sometimes.induce serious complications

2) are the most convenient way to prevent illness

3) normally result in immunity despite some mild reactions

4) have to be tested for any reaction and then be administered

It is stated that the possibility of any vaccine reaction ~——-——-,
1) should be announced to the recipient

2) had to be reported to health workers

3) can be controlled by modifying its components

4) will result in the occurrence of further complications

Which isn’t the component of the vaccines?

1) Antibiotics 2) Vitamines 3) Preservatives 4) Aluminum adjuvant



oyl (Wl U 590 3T (anadts Colw 0 g S puno

AMNIYY aclmy s (&)

S g o o0liiul yocka plaS  polais 3ol iy sl (Quink ink) -
PardazeshiPuli.corii
258598 b = e 19
FuiS o0 Syl (ilaSiy Eoi 4z g Caml plal (o y9d9%i -..F'.!-"" =EE
el o lafts — Brain heart infusion agar (v
o oSy - Niger seed agar (f
$a9_pa s0litul Gl bume )3 Cudy b clag Suigsl , -TY
Sl IS (¥ el S gl (1 el (¥ oebew (o OO
Pl nilin Gy (glBtiges 31 S pla oz B o jlulis oo §ami Fbw | 363l 90 e jleoliial  -TF
o ghae auls (F Lals (¥ g | Sy ()
ol plaf slluleil po lag 8 o layS Gbgy i e -T0
3lF ot az 3 =A 0 3 alasul (Y St aleail ()
Jlnsu (F e g, (7
Sl s o Sy plas T
My e g1 (Y By ot gl
Q) LSyl (F Gy fms il (v
Tl i olana U 5 STl il (32 i gl ey plad T

MessSsls - B alesl O
&i8la e sl (F 15T pg,S daumes 5l aalizul (¥

fadly oo (5 shons oigede Lo duleil o M g H gw) babs  -YA
et i agees e dann¥ g8 L (Y et jgSalaginads (1
: ot isSalegi g S eS (Y

fdyle Fas g0 4 bl Lpudlfyl plas -1
V,8593, 3 Ll.}uj‘_"lli (1
el g g lay 5 (T

Anti-HSPgy L;,,Ijj,,,lr_,,-ﬁ (Y
_ Anti-Glucan - Jyal8 gge! (¢
AlE) 3 4l il pefiees 9953 omge sk ai Jele plar -
3 gl (F 9 Bty (T (lays Seige A1 0
foeal g glow alaf jludinn) e jaun s le —FY
tigadgile o (F s 3952 g g0l (F Logly el (0
Sl gt it yplnsi g oS it 5 359m 50 Sajls plas FY
el b ol Ay s odla slowl ()
i Jame 4 pal gl b JoeS ad il (Y
ATl a3 TV & oo 5 salifoglin 4y gl (V
oD -J-:i-* N peten S 283 Jr-s 5 i ) agzg (F

ST L-’-:du'-f 3 =45 lasuils (F gd ladlS g 59,5 e uils (V

MﬂwQuUS)é“)‘ww)walﬁW‘S)b‘d?.i



o 5 il )5 (190 3T (wauas Colw g famd o

AMNITE allpml oo (%)
PardazeshPUl.¢8H1
Ol ul.n:.uu 1_;'# pad ol B -FF
(511 slowl bl 3 e Yoo (¥
gy Sughe Slawl | alily g Sute LSS (T e Zisde alenl | LUl Ty Sota G
?ﬂu:ﬂ-!‘.'ﬂ- ﬁl_,!u.ﬂhu - + T B | ket _.: *-'F"'Ir
sl emaly (7
51,08 |y lS” (F
il et 4 -FA
owglf Lpwla (F eilaya Sy Ljeatile (F Il L sl (1
il plaS s jo1s jauaigiay galos Lousild gy (o i -4
590 e e (T ' 25 ()

Pl giman (F 9500 raine ialasl (¥
ST L (F ¥l (7 3l ymaal
lagits’ (¥ 95 55 g o gyl ()
23 3uf o0 158 oalizul 76 sl eliarl 315y plaf olo oLl Cga 8555 308 Y
g (¥ Sl e el ()

S (F ool Jeasilindd (¥
U35 oo go gdila 338 55 Lo el ol ) slacudgilegs 3l o plas’ -0Y
el e gligS g ( P2385 308 Lgigha 5 ()
gig e (F e paggea e (7
T 5l e s Bl o i 1§ Syl sl 0 Ae oy slp BT Sl Syle bume -OF

e oo (Y e el )

LRTR] ,-.5_;.1-111-! |l1-'i-'r' u:.llg ‘:bl.iﬂ g% ._I:..T.- L'l-"':*."" .ll..-.uql ]
2355 Fa el ()
o jgRalegiadbipag )5 (T

T 51 S 1T s ot o il 4 it Loy oy Solaale yo 07
Gl (7 (omiii iy bl OO
Lg g0l o2 )5 s 50 Jabus g slges 5o bl S plas BV

s cts KV Sy (¥ Jaes 04

709 3,90 ) @ pannailf 5l oS @S GBS i gl | pndle Soisa -0
asasls” (F radglep (F elegi2ST ()

Foal gl plas gauasic bef Sladyi 43 S50 5 by 5 pede glaJsbu 3g2g 04
Gl et oy 85 (F T
gl Ll (F e [

03,001, ONS (505 3 2Ulyi £,8 plas

Pmﬂﬂzer.hplmxﬂm

M}S&wQhﬂ’)é“)‘@“)"@h%"}b‘w?i'



AAINITA dcdipsy pus ) il S

Pages 3, 1, dsuogs Jhadlyy and b Calts 33 lareidls ol

= (¥ pr (¥ Jlass (¥ s¥==b0
af 8l
Tgi n joad a3l Casly 3,90 AT A = o gy Satipal azdldlaao
A bl o A hals (F Nsinon sl (¥ Nsino: als ()
IS il 31 JSiiize Ly 50 palle oot
Jlgg g 5 ais¥ (F salgil g o, (T i g aolgils (¥ aigf g i ()
ol gogelid ) Ljgeafl dius aluf
L g8 g ol (F Loyt (¥ e a5 | (Y L 255 21 (1
P ORI — doly Caned a2 gljlo a5 Al o s L g 2L pg )4
beS 4YoS_ VoS (¥ 888  YoS _veS
FeS gFaS_AoS (¥ 808 ¢ ¥oS _AeS (v
sz (PME) Gigis s dilo g i el
el Sl FIGIE Al 'HTD\; 4335 (¥ Hr{}'-: 0 A Sl s -._.'-.'!':-'JT Jraas (O
pH 4 S, 250 ol 5 (F QH™ , HY kil oo (T
250 1B AT Connnd plAF 38 i 9551 (o 5 DD el
JgeS (F et o el (F lassl e (¥ st o2 ()
TS oo P plaS 1 el iy
ST gty (gt wlolits Sises (Y Sl Po-F wiss O
L 5 ol Sl e Rid N g i (F Josl8 gD g cn I L oy iy (F
Pyl A 2o B gle JgalF 4 L AT ey 43 3580 plas
oo (slads et (F (i (gl prad (F Gkl slos b (¥ sl slas3l
03,1 i v 31 p1as Lag il 40 paiealy il 4o
S S (T FeF 95y Apand (X 58,0000 JSI (T gl O
fagd oo adai oolo plaf (NY) &l ol oy 3o
I i R NADH v Sligal (Y
Tadily po 0y Soia ]l yo gl 40 g 25l (g 288l
Phase of decline (¥ Stationary phase(r Lag phase (v Exponential phase ()
SIS o 51,8 (390t s T 3L plaf DNA  JgSige ;0
el g Geeai (F Jeeslysl § Gl OO
S gn A (Fhaen g g0 gale Sl olagl dan (T g 3 el (T
§3 10 S s g3l plad DNA g 5laailon ;o
DNA srzsaly 3 L DNA(Y RNA & aisly 50 DNA ()
RNA & a2ils 51,0 L RNA (F DINA & azudly jle b RNAG
fg0 00 DNA 53 (ruedd aigd oloul aely gljlige Jolo plas
UV aad (f Fper e £y 3 Jala p pgsadl (¥ ) e ST (Y
15,1 i g 535 3 55 Fii] edsy 51 Suplas 52 e g LIS gigl (lage 51
oot g Sasyioa (F Oteliga (7 S (T Ogeeslaygiudly ()
Tl Lo g 528l g0 53108 o sl £ Jole o 5 plas
TTPyet ~ GTP v CTP (v ATP ()
Fogdd g0 003 pis pl,F (5l 5 25l ISlF gy 3o i ol il gl
Sudl=L (¥ =L (Y
ael Sle o sl (53930 (F oY1 =D
Tagui g0 plal 3G plad Jawey Trunsduction ws) 4 5550 g0 4 o) JEsl
Temprate phage  Jocas 36 (V Plasmid a3 (1
Yeast oz (F [nsertion sequence auiss s=ks Jo (7
€038, gn Sl (T 30 (G pmadd A Fiind ot S5y Aget i el
LS - (F $IL s el (7 STk dly e s (F i (b
ol oo 5 punsd ‘.Hh_ﬂ alas r_.,-\1'!.-..-1! Ja il g el oy 5l a8 paesed
MR (¥ VP (v Jgil (¥ a9 (1

-F1

-FY

-FF

~FY

—FA

-F4

vy

-Y¥

=Y&

~-¥YrF

-Y¥

-YA

-¥4

_As



KVRRY W P [ VY - Y RU] WRWTR o e

AANITA aclmy e (A) ,,_,.ul.:...:.u.,:,)&._.a
Y BCG

":"“'ILE“""JIJ"’J“_.}MG A L"!Lfn..l""" u-..'n..'li‘_k..uh{"l.
Mdu‘}wkhnjt.ﬂ{f .Lwl,.‘gj'lfl_l...nd:.af'_j.__-hﬂ'

Al o 93 Slessas gl kel ol

Cpmeslogns sl 4 molia (F ek 8 lgs adli (¥ s i s ke (Voo I5la bl (D
il oo b S 5 bl S (535 plus

b e (F Laeds (7 Lo 3y a5 L (¥ Mg e ()

¥l pramas (oS 95 kil 3390 33 0yl @laF

B8 Faye oo opisie oliail olowl Sl (V 2,5 ot AlenS i danlal o by S g g0l (3

amil gl D) s S (F WS ed ol o (T

ol digha 18 pug g 2 0yl Sl

imemtl g g (T ] ﬁlﬁf{'l

Ol 5 jlows 80T 3 gums g sl Jlat )l (5 lo glAS 30 a5 o b B (Soacnds

&ola (F Shyoa (v I s slydasslll (¥ Eaiiagd all (1

Sl 153V il 53l pmnsiia (yge)] o it Sl

Jalos S 25 (Y ladl s ()

(HI) il glfilos 5 Cuailon cous (F (GRS  Lole s s (F

o plad (gl (5 jlens JUS] Jgane 5

Sl g o i g 2 (7 Wi a ale (F P O

o il g0 Ly oy ilies 932 15 35190 (sdei
i yh pg59e ()

A s 5§ U el

.}JL'U Sadmy I.&.l. L jl l.f"f1 E..J- {1;

i, s 1

Pouligh  pond a= |y ng_,ﬂ Alie patanse

gpy osh (F &y, (7 a5y (Y o ol O
gl b g lom plaf sl (ol glacallad ;o codl e bls

ol sleplasi (F 0 realags slagilen (7 by (slins o (F g0
Ta s cdlso a1 plas 50 IgE

e gy (F pem £5 (T pes £y (¥ Jo! g5 O
Ol i 3590 plas 5o S0l ©j0d

Tadeli o a1y J) 0] 00l Cpand

=¥l (F ey 2l il (F ezt O
gl od odbliu 4 gill el j2 Al e plas

3 jem s (T Siob aded  tals (Y Jlad g 5lasials (Y Azl (4

. ?thd{IJﬂﬁulﬂj'ﬁﬁﬂﬁﬁ‘s'fN’;Jﬂ _}1-3_15&"5““}”-“'1

o5 5 g (F 5 il gl OF o !l (7 Jedg e o 51 O
Tl i IgG jor do

STTRAS s Fe ¥ e o (Y 35 QO

€ o8 oo D g0 Gy pIAT G prads Jlad ol oo

ok slapols (F STy (V wilagdp e (7 eyl O
fayla 1y glalas sl Kof 2lgo

o el S o (F el e (V 9 | FECCI Qg Oy T

-AY

-AY

-hF

-AY

— AR

_q.

-1}

-4y

-4y

-A4F

-4b

-4F

-4y

~AA

49

_1+I‘



o of wm)UQp}TMQh )9 i g0

AAVITA adlizml mas (4) b na |
i n Ll olaf 3145 T ealsf il ) Sz yads elale L

Cilllse. M lagolas (¥ B sl Jola (A

ok gle sl otilie el Jolos (F a5 5 Cmgia ledgs sl Jolo (F
iyl o )liee 315 slapw g j1 S phas IgA & IgM 51 il gielfgines ] M5 ok ol
IL,,TGFg (¥ ILe JIL, ¢ 11 PSR | T ILg JILe
TS ge Jae ILp Joleo 5 slaglFgmew 51 S plaf sl i glagealy ol s

IL_y (F IL,, ¢ IL g IL, ¢
Tl s g0 4 g g0 4t Jobo 215 olS byl 45 ndyisligisn] pullio oala S 50 4
gl (F gl (T ot Y iyl (1
gl g0 Minn (5 jloms IS &y wis Yike € 0uiiS jlye 1 39205 4y a5 o131

Syl oy (F Sedyyig il pal (F sl @hless (F QA
Togd o iy Sle pud Jlad cacly g oud ol ) NK glo ol o T slacasgdil il 15 glo ol i 1Sy plas
[iNy f TNfa or IL =5 IL—y A
fal plaf gl g0 Thy slagualy jlge cacl goad mi 7 Thy slaJghe jlas l8sulo (o Sage
[IL—1a (f IL =% (v IL =Ae (Y IL=a o
Tagad oo Boenuslyil,F audy olsdl caly joa518 plus

IL—7 ¢t M — CSf ¢r GM — C5f (v G- CS8f ¢
ol 7 plae (o gaf = 00 0 e plois & ) Slon 5 g 1S5 plas

RANTES ¢t MCP -y IL—ve (¥ IL—=A O\
ol Jlad sl CDyy JoSdss & Jlait b g oad adpe LAPC plaw g jpiew) Suf plaie a Joflge plas
Tagungo T olos Jakes

CTLA; (% CDet fasL. (v By )
Caielige az 1) abs g (20519 o0d adgi g0l (AT Ll Wigd cod (g3 (5T gl Sasly aF pls J3SU 50
oRle (F 2N 05 =1 (1 Oigigel ()

Tiansl D doh S uidin G ol 2 ) (Sl Sy 1SS plas

E-;;.-.I:JL._I&{T ___qjlﬁw {}Sf-.fj{"f L‘-JJL..:J (Y
Tagli oo IBE Woe slo b lawtl 0 B glocowadsl W5 Jad el pj sloplianle 51 S0 alas
IL=5 (f IL =1 (v IL-¥ (v IL=-v 0
Pl | pmand o i sl wi5g 5 S0 plas LJ"’?‘JI e 1y

*FEj;{‘E ¥ o (7 T Ee (T ) g4 ()

Yol 599 0 (gl pgan] Cool 5l oS Jele ¢ plaf

Gy (T Bl Y ceb (¥ Cya (1
095000 )0 alagdede iy Jolw Jol (F i &yad puin sl pBSlejl sla i, jl S plas
YME (F Cir v NBT (v CIC oy

f0 pfen e 15 lbalesl 1K plaf b 5580 as el ued

o (t S (Y Sk (Y o=l (Y

ol plo a1 e e (gl 2iFlg 5180 plaf ol

sl T (F ety (7 Jade polis Coudd (V =lyigmalpal; O
Poylas Iy Jasie Jole condti colils gols S plas

lgGe (F [eG, 1gGy (Y IgG, O

Fasls pli az ladeaS el olh2 alos wSlesS « jor fdy

Cy (F Ce (V Cab (¥ ceb O

GﬁunS};auo thluii,{g‘yﬁcﬁﬁ;)";gudﬁﬁb)ls'Gblﬁculﬁ'_gi)t§$4 "g)ﬂ;i’

=11

~1+T

e

—}F

e

Y-

=Y

Yok

_ﬁ‘l&

L

-

-Wr

-11¥

-11F

=1

-W\¥

-1y

-4

-1

—4Ys



